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Review Name:
Solve each problem. Answers
1) Use the numberline to solve: 2 + l/6
0 1 2 3 !
N | | |
1 I I
2.
3.
2) Use the numberline to solve: 2 + 3/4
0 1 2 3 4
| , , , | | |
I ' ' ' I I I
5.
6.
3 1 4 1
) 7 +—== ) 8§ +—= 7
7 7 .
8.
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5 1, 01 _
2 5
10.
11.
7) Use the model to solve: l/9 +8 12.
13.
8) A bulldozer could carry one-fifth of a ton of sand. If a park needed 8 tons of sand,
how many loads would the bulldozer need to carry?
9) A store had 9 boxes of video games. How many days would it take to sell the games
if each day they sold one-seventh of a box?
10) yse the visual model to solve: 5 + l/4 =
1 Whole 1 Whole 1 Whole 1 Whole 1 Whole
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11) Use the numberline to solve.
1/ =4 o 1 2 3 4 S 6 7
7 7 7 7 7 7 7 7 7
l l l l l l l l
I 1 1 1 1 1 1 1
12) Use the numberline to solve.
3/ . 0 L 2 3 4
/43 4 4 4 4 4
l l l l |
I ] ] ] 1
13) Use the numberline to solve.
3 0 1 2 3 4 S
/5 +6 5 5 5 5 5 5
l l l l l l
I ] ] ] ] 1
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Solve each problem.

1) Use the numberline to solve: 2 + l/6

oo -
)
S

2) Use the numberline to solve: 2 + 3/4
0 /—T\/—\% 3
| / , | Y , , , |
I ' ' I ' ' ' I ' I
o 2 4 6 8 10 12
4 4 4 4 4 4 4
3) 1 4) 1
7T == 8§ +—=
7 7
7 7 49 8 7 56
_ X — = — _ X — = —
1 1 1 1 1 1
5) 1 6) 1
— =3 = — =5 =
2 5
1 1 1 1 1 1
_ X — = — _ X — = —
2 3 6 5 5 25
7) Use the model to solve: l/9 +8
8) A bulldozer could carry one-fifth of a ton of sand. If a park needed 8 tons of sand,
how many loads would the bulldozer need to carry?
9) A store had 9 boxes of video games. How many days would it take to sell the games

if each day they sold one-seventh of a box?

10) Use the visual model to solve: 5 + l/4 =

Answers
1 12
2 27,
3 Yo
s Yss
5 Z
6 Yas

8 40
9 63
10. 20
11. 1/28
12. 3/12
13. 3/30

1 Whole 1 Whole 1 Whole 1 Whole 1 Whole
1] 1] 1] 1] 1]
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11) Use the numberline to solve.
1/ ) 0 1 2 3 4 S 6 A
7 7 7 7 7 7 7 7
(WW | | | I | | | I | | | I | | | I | | | I | | | I
| L DL L L UL L L L L
1 3 5 7 9 11 13 15 17 19 21 23 25 27
28 28 28 28 28 8 28 28 28 28 28 28 28 28

12) Use the numberline to solve.

3 0 i 2 3 4
4- 4 4 4 4 4
F———F———F———+——F—+—+—

1 3 S A 9 188

12 12 12 12 12 12

13) Use the numberline to solve.
Ve O 1 2 3 4 El
L1 L1 L1 L1 L1 L1 TR N N T [N T T R B A |
l T T T T T l T T T T T l T T T T T l T T T T T l T T T T T l
1 3 5 7 9 11 13 15 17 19 21 23 25 27 29
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30 30 30 30 30 30 30 30 30 30

www.CommonCoreSheets.com

Page 2 of 2



